V) z@z—1)(z-2)=3-2-1&0, 2=31F120THL, L>7T. (z-3)1%
z(z—1)(z —2) — 6 DRTH Y.

zz—1)(x—2)—6=(x—3)(x2+2) =0

0. =3, £v2i,
(2)
(1-v3)2/(1+V3i)) = (1-+3i)3/1—(-3)]

= [1-3%xV3i43x(=3)—(—3) x V/3i]/4

= (1-9)/4

= -2
(3) 7) 1 DAUAMETH 2576, 4/9
1) 99 FTIT 3 UL 33 BB, ZON, 9LITObD3De, 1 DN 0 DY
D32, WENEZDLLD (133,66,99 ) 32&ELHIKLLTT 24 WY NS,
24/(8 x 9) =1/3
(4)

A? - B? = (a®+ 2ab+ b* — 4ab)/4

= (@-b)2/420

B> - C? = ab— (2ab/(a + b))
= ab((a+b)® —4ab)/(a + b)?
= abla—b)?/(a+b)%*20
(5) ATLEH LY, AC? =52432-2x5x3c0s120° =49 AC >0 EM5, AC =T

HORFEHICEY, cosD=(52+8-7)/2x5x8) =1/2 &>T, 4D =60°

(6) Gpt1 —An =Qp — Qg =+ =a;—ag=1706, KA&2H5,



]

2
p=(0—tla+tb&HBL, OP LAB &Y.

p-(b—a) = {(1—t)£+t5}.(5—5)

= t(b-b)+(1-2)a-b)—(1—1t)(a-a)
- t{(z?-z?)—z(;-z?)+(5.5)}+(E£-6)—(E£.c?)
= tlb—al>+(a-(b—a))

= 0

RDT, ThET,

- — -

a-(b—a)

t:_ pury = o
[b—al?

b=t {(- G- a)a— (@G- a)b}.

16— al?

(|p[2 @ LICT HHEfl R RD T Luo,)

2 2
/ z(z —a)? dx = / (2® — 2az* + a*z) dx
0 0

1 2 1 2 1
= [1364 — gaa:?’ + §a2x2] o =4 — §6a + 24>
(2) fla)=4-Ba+24* 2B,
16
f’(a):4a—§

BUC, a=4/3 THfiZ 2 5, Zhid. 0 < a S 20HHICH Y. LAY, f(a) 1F2K
BRI TH LD 6, a=4/3 Ti/METH S, TOEIE f(4/3) =4—-64/9+32/9 = 4/9.



